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Paper : C-13

[ Inorganic Chemistry
( Organometallic Chemistry ) ]

Full Marks : 53
Pass Marks : 21

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct answer from the
following : 1x7=7

(a) The total electron count for the complex
[Fe4N(CO); 5] i

(1) 60
(i) 62
(iii) 72
(iv) 59
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(e) Cataions of which of the following
groups are precipitated in alkaline
medium?

(i) Group I

(ii) Group Il

(iii) Group IV

(iv) None of the above

( Which of the following combinations of
basic radicals belongs to group III?

(i) Fe, Al, Cr

(ii) Fe, Mg, Ba
(iii) Mg, Ba, Ca
(iv) Mg, Ba, Fe

(g) Find the hapticity of CsHg ligand in
Fe(CsHs)o complex.

(i) Monohapto ligand
(ii) Trihapto ligand
(iii) Pentahapto ligand
(iv) Dihapto ligand
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2. An
Y five questi
ons from the f;
ouOWin
= A

(@ Whv ;
y1s
for the H,S passed in alkalin X5=19 (b)
radical precipitation of e mediy why during the precipitation of
b - group IV bagje aroup lll radicals, NH,OH is added in
Define presence Of NH,Cl 1+2=3
solubili 2
Product ty product
© Wh of a solution, and jonjc (c) What is the group reagent for group V?
at is the j write the chemical form of the
m 2
ol‘ganOmetame:hﬂanFe of Zeise’s sa precipitate of group V. How will you
Prepared? cmistry? How wast o confirm the presence of BaZt ion in 2
(d) Give an 11:- salt mixture? 1+1+1=3
1=
HCO(co) e}x{s upied of reaction in
S wh
(€) What is wip Ayt <! UniT—I1

one use of Son's cataly - 4. Answeran four from the followl uestions :
this cata] yst? Mentio : S y e following quUeS :

() How is T 4 3x4=12
the nuéli: rule helpful in d < (a) The CO molecule ha‘is JR .stret.ching
metal car r of metal-m etermining frequency of 0143 cm , but 1t shifts to

bonyl com €tal bonds j different regions in metal carbonyls.
POundsp In .
5 Explain.
3 An UNIT—I (b) What 18 Ziegler-Natta catalyst? Discuss
SWEr any two fro its use 1n the polymerization of ethane.
m the fOHOvvlng questi 1+2=3
(a stions :
) How wil] yo 3x0= (c) What 18 synergic effect 1n metal
phosph u detect =6 :
salt ate as interf the presen carbonyls? Draw the nolecular orbital

e rfeT:CtUre? HOWerglg radical (ii of energy-level diagram of CO molecule
: ' oes 2 1+2=3

radlcalsﬁ in the detec b phOSPh

tion § of bast
P25/9 basic (@) What . ferrocene? Write its prepara-
70 1+2=3 tion. Write the Friedel-Crafts acylation
reaction of ferrocene. 1+1+1=3
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